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QUESTION 1

Identify the characteristic being employed when companies in the same industry are using the same accounting
principles.

A. Comparability

B. Relevance

C. Faithful representation
D. Verifiability

Correct Answer: A

QUESTION 2

Who appoints International Accounting Standards Board (IASB) members?
A. Standards Advisory Council (SAC)

B. International Accounting Standards Committee (IASC) Foundation

C. International Financial Reporting Interpretations Committee (IFRIC)

D. International Accounting Standards Board (IASB) staff

Correct Answer: B

QUESTION 3

What is the sum of current and noncurrent liabilities called?
A. Total cost

B. Current debt

C. Total expenses

D. Total liabilities

Correct Answer: D

QUESTION 4
Why is accounting for short-term employee benefits generally a straightforward process?

A. Because no actuarial assumptions are required to measure the obligation or cost and there is no possibility of any
actuarial gain or loss
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B. Because short-term employee benefit obligations are measured on a discounted basis
C. Because short-term employee benefits are not provided in exchange for the service of the employee

D. Because the employer is required to incorporate actuarial assumptions into measurement of the obligation and the
expenses

Correct Answer: A

QUESTION 5

Company XYZ does not disclose any information in the notes to their financial statements unless the value of the
information to users exceeds the expense of gathering it. Which constraint of Level 3 of the conceptual framework does
this represent?

A. Cost

B. Materiality

C. Expense

D. Disclosure

Correct Answer: A
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